ApxaHrenbck (8182)63-90-72
AcTaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropoa (4722)40-23-64
BpsAHck (4832)59-03-52
BnagmBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89
UBaHoBO (4932)77-34-06

MxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
Kasanb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuit HoBropoa (831)429-08-12
HoBoky3HeuUk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
KasaxctaH (772)734-952-31

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lMeTep6ypr (812)309-46-40
CapartoB (845)249-38-78
CeBacTtononb (8692)22-31-93
Cumdepononk (3652)67-13-56
CMmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13
Poccus (495)268-04-70

https://nedo.nt-rt.ru/ || nod@nt-rt.ru

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsaHoBCK (8422)24-23-59
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosewn (8202)49-02-64
flpocnaBnb (4852)69-52-93

LLitaTnebl anrtoMmmHuBbLIE


https://nedo.nt-rt.ru/
mailto:nod@nt-rt.ru

AntoMunHueBble wTtaTtuebl Nedo

AnoMuHueBble wWratuebl Nedo KpalHe HaAEXHbl
M OoTNMYaTCa 06pa3LoBO NMPOYHOCTbIO. OHU
naeanbHO nNoaxoAaAaT ANAd YCTAHOBKW HUBENUPYIO-
WMX YCTPOUCTB, TEOAONNTOB U POTALUOHHbIX
nasepoB. bnarogapsa «6bICTPOMY>» 3aXUMYy HOX-
KW WTaTuBa BbIABUIAOTCA M yCTaHaBMBAOTCH
npocTo M yao6Ho.

Tripod Ref.-No. 200 631

= Aluminium tripod plate = Dot and line lasers
= Quick clamp = Rotating lasers
= |Leg locking system

without a strap

= Slip guard

Tripod Ref.-No. 200631
Min. effective height approx. 0.53 m
Max. effective height approx. 0.85 m
Retracted length approx. 0.61 m
Weight approx. 2.40 kg
Holding screw 5/8" thread
Tripod head flat, g 140 mm

Tripod Ref.-No. 200215-613

= Aluminium tripod plate = Builders’ levels
= Quick clamp = Rotating lasers
= Carrying strap

Min. effective height approx. 0.91 m
Max. effective height approx. 1.49 m
Retracted length approx. 0.97 m
Weight approx. 2.70 kg
Holding screw 5/8'" thread
Tripod head flat, g 120 mm


javascript:window.print();
javascript:window.print();
https://www.nedo.com/img/products/stative/200215-613_big.gif
https://www.nedo.com/img/products/stative/200631_big.gif

= Aluminium tripod plate = Builders' levels
= Quick clamp = Rotating lasers
= Leg locking system

without a strap

= Slip guard
Tripod Ref.-No. 200221
Min. effective height approx. 0.91m
Max. effective height approx. 1.69 m
Retracted length approx. 1.06 m
Weight approx. 3.40 kg
Holding screw 5/8" thread
Tripod Ref.-No. 200221 Tripod head flat, g 140 mm

Aluminium tripod plate
Leg locking system
without a strap

= Made in Germany

= lLarge, round tripod head = Builders’ levels
= Quick clamp = Theodolites
= Carrying strap = Rotating lasers

—

s .fﬁg‘;m‘_ Min. effective height approx. 1.00 m

] Max. effective height approx. 1.71 m
Retracted length approx. 1.07 m

Tripod Ref.-No 200 203 Weight approx. 4.25 kg
Holding screw 5/8" thread

Tripod head flat, g 168 mm

Medium-Duty Aluminium Tripods

= Aluminium tripod plate = Dot and line lasers
= Quick clamp = Rotating lasers
= Slip guard = Pipe lasers

(Tripod Ref.-No. 200 412)

Min. effective height approx. 0.78 m

Max. effective height approx. 1.18 m

T Retracted length approx. 0.82 m
InGER bRy Weight approx. 4.00 kg
Holding screw 5/8" thread

Tripod Ref.-No. 200 412 Tripod head flat, ¢ 140 mm



https://www.nedo.com/img/products/stative/200412_big.gif
https://www.nedo.com/img/products/stative/200203_big.gif
https://www.nedo.com/img/products/stative/200221_big.gif

..- MADE N |
GERMANY

T T 4

= Aluminium tripod plate = Builders’ levels
= Quick clamp = Theodolites

= Carrying strap = Rotating lasers
= Slip guard

Leg locking system
without a strap

Min. effective height approx. 0.99m
Max. effective height approx. 1.68 m
Retracted length approx. 1.06 m
Holding screw 5/8" thread
Weight approx. 3.8 kg
Tripod head flat, g 140 mm

Tripod Ref.-No. 200 250

= Aluminium tripod plate = Builders’ levels
= Quick clamp = Theodolites
= Carrying strap = Rotating lasers

Min. effective height approx. 1.01 m
Max. effective height approx. 1.63 m
Retracted length approx. 1.08 m
Holding screw 5/8" thread
Weight approx. 4.60 kg
Tripod head flat, g 154 mm

Heavy-Duty Aluminium

=T

LLiratve Homep 3akaza 200 200

Tripods

Ana HUBENUPOB
ana TeoaonunToB
ANa TaxeoMeTpoB
ONna pOTauMOHHbBIX
NaszeposB

= «BbICTPbINA» 33X UM

MWH. nones3Has BbICOTA npumepHo 1,08 M
Makc. nonesHasa BbiCOTa npumepHo 1,72 M
OnvHa B CKNagHOM Buge npumepHol,14 m
Macca npuMmepHo 5,00 kr

[onoBka wraTuea nnaockasa , g 140 mm



http://download.nedo.com/products/Stative/200200.jpg
https://www.nedo.com/img/products/stative/200250_big.gif
https://www.nedo.com/img/products/stative/200225_big.gif

LLiratne HoMep 3akaza 200 312

= Aluminium tripod plate = Builders' levels
= Wing nut clamp = Theodolites
= Rotating lasers

Min. effective height approx. 1.08 m
Max. effective height approx. 1.72 m
Retracted length approx. 1.14 m
Weight approx. 4.70 kg
Holding screw 5/8'" thread
Tripod head flat, g 140 mm

. «BbICTPbIN» 3aXUM " 459 HUMBENUPOB
" 008 TEOAOSIMTOB

MWH. nones3Hasa BbICOTA npumepHo 1,04 M
Makc. none3Has BbiCOTa npumepHo 1,68 M
OnnHa B CKNaaHOM Buae npumepHo 1,13 M
Macca npumepHo 5,40 kr
FonoBka wraTuBea chepuueckasn , g 140 mm

i MADE IN
e GERMANY -

Tripod Ref.-No. 200 204

= Aluminium tripod plate = Builders' levels

= Large, round tripod = Theodolites
head = Total stations
Quick clamp = Rotating lasers
Snap Cap

Carrying strap
In accordance with
ISO 12858-2-H

Min. effective height approx. 1.02 m
Max. effective height approx. 1.72 m
Retracted length approx. 1.10 m
Weight approx. 5.20 kg
Holding screw 5/8'" thread

Tripod head flat, g 167 mm



https://www.nedo.com/img/products/stative/200204_big.gif
http://download.nedo.com/products/Stative/200312.jpg
https://www.nedo.com/img/products/stative/200233_big.gif

ApxaHrenbck (8182)63-90-72
AcTaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropoa (4722)40-23-64
BpsAHck (4832)59-03-52
BnagmBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89
UBaHoBO (4932)77-34-06

MxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypek (4712)77-13-04
INuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

MarnuToropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuit HoBropoa (831)429-08-12
HoBoky3HeuUk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
KasaxctaH (772)734-952-31

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MNMeTepbypr (812)309-46-40
CaparoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13
Poccus (495)268-04-70

https://nedo.nt-rt.ru/ || nod@nt-rt.ru

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsaHoBCK (8422)24-23-59
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBey (8202)49-02-64
flpocnaBnb (4852)69-52-93


https://lutos.nt-rt.ru/
mailto:tus@nt-rt.ru



